ulsorily draw diagonal cross lines on the remaining blank pages.

myp

[mportant Note : 1. On completing your answers, co
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ification, appeal to evaluator and for equations written eg,

50, will be treated as malpractice..

2. Any revealing of identi
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Seventh Semester B.E. Degree Examination, December 2010
Data Mining

Time: 3 hrs. ' : ‘ Max Méfks:.l()()

b

. Discuss the measures of proximity between objects that involve multiple atiributes.

Note: Answer any FIVE full questions, 'selecting atl_ea&t ™o
questions from Part - A and Part — B.. o

PART-A
What is data mining? Expiain the éhallenges that motivated the development of .de.lta mining,
- Explain the different types of &ata sets with examples. gg ﬁ:ﬁ;
. Deécrib_e the various approaches for feature seiection. {06 Marks)

- 'Explain with examples the following : 1) S'imple matching coefficient i) Jacquard

coefficient  iii) "Cosine similarity, (06 Marks)

(08 Marks)

. What is classification? Explain the two cia’ssiﬁcat_'ionfﬁr_i;odcls'-Wiﬂ_l_ example. . (06Marks) .

-b. Consider the training examples, shown in table Q3(b)fora binary classification problem:.
i) What is the entropy of this collection-of tra_inj;ng};cxar_np_l_es_ with respect to the positive

.class? _ e
i) What are the information eains of al and a2 relafive to these fraining examples?
: :  Table Q3(b) - {08 Marks)
Instance | a; | ay | a3 Target class

1 T T[10 +

2 TIT!6.0 +

3 T/ F |50 -

4 |F|Fi40| + .

5 F|T!|70] .

6 F|T;30] -

-7 F|F |80 -

8 TIF!70 -+

9 FiT|50 -

Distinguish between Rule based ordering scheme and class based ordering scheme. (06 Marks)

. A data base has four transactions. Let min_Sup = 40% and inin_conf = 60%.

TID { DATE - | ITEMS BOUGHT |

160 | 01.01.01 | {K, A, D, B}
200 | 01.01.10 | {D, A, C,E, B}
300 | 01.15.10 | {C, A, B, E}
400 | 01.22.10 | {B, A, D}

Find all frequent item sets, using Apriori and FP growth algorithms. Compare the efficiency

of the two meaning processes. (16 Marks)

- Explain various alternative methods for generating frequent item sets. (10 Marks)
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PART-B

a. What is Apriori algorlthm'? Gwe an example
A Data base has six transactions of purchase of books from a book shop as given below
= {ANN, CC, TC, CG}, t={CC,;D,CG}
= {ANN, D, CC, TC}, t4 = {ANN, CC, D, CG}
= {ANN, CC, D, TC, CG}, ts= {C, D, TC}
Let X = {CC, TC} and Y = {ANN, TC, CC}. Find the conﬁdence and support of the

Association rule X — Y and inverse rule Y — X. _ (10 Marks)
b. Explain the various properties of objective measures. . (10 Marks)
a. What is.cluster analysi's? Explain different types-of clusters. ' (10 Marks)
b. Explain the hierarchical clustering, with example. - (06 Marks)
¢. Explain DBSCAN algorithm. L . (04 Marks) .
- a. " Discuss the use of data mmmg apphcatlon for telecom mdustry S (10 Marks) _'
b. What are the trends in data mm;mg‘? (10 Marks)

Write short notes-on :

K — means algorithm.
Outlier analysis
Spatial data mining.

po o
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Social impact of datammmg ' - - | o '(ZaMai-'ks)._- o



